"SI PEDALIERA ARRETRATA MINI CIK-FIA
av. MINI CIK-FIA RUDDER PEDALS

30 In vigore dal - Effective from 15-12-2021 g




Rif. MINI CIK-FIA RUDDER PEDALS ¥

Description Tax included

A |0010.00FKIT OTK 74 =A%’ JLAL.KIT MINI 2020 Complete rudder pedals for Mini CIK-FIA 68,090
B [0010.00F1 G =AB I K —FMINI Rudder pedals support Mini CIK-FIA forged 19,910
C (0010.00G2 34 =A'8°J, 790OK Rudder pedal foot OK-KZ forged 7,590
D (0010.00G4 TYFRYYI ATvh- Anti-slip Sticker 561
E |0014.00F3 TIENA LY /58 -0 Accelerator pedal support for Mini CIK-FIA rudder pedals 12,100
F  [0214.E0 TIENYERVY 7 V=b=58 =N Accelerator locking plate for Mini CIK-FIA rudder pedals 1,980
G 001400F5 79‘&»'\"7‘}1'1'\"—‘}‘—/59‘—'\°9‘Jb ::;:Isle rator peaa spacer for Whint for Wi CIK-FIA rudder 935
H [0015.00F3 A Y NSy e VAT Brake pedal support for Mini CIK-FIA rudder pedals 12,100
1 [0016.FAB TIRMN LRI NG /58 =N 8N Accelerator Pedal spring for Mini CIK-FIA rudder pedals 2,860
J |0016.FBB PAEEYNC N Y ORIV WET N i A Brake pedal spring for Mini CIK-FIA rudder pedals 2,860
K ]0017.B0 A8y 2H1)2~/SHORT/ROOKIE Pedal screw Neos - Rookie EV 2,970
L (0010.00B4 79ME =FAA == 5mm Spacer 5 mm 1,320
M (0010.00B2B 7Y %A47 V79VAME —F 5mm Support for adjustable footrest 5 mm 1,210
N [0118.200A YR4=-YY4 =aybn-oyk 200mm Brake pump bent control rod L.200 mm 3,300
O [0118.240A YA4-YYU4" =3V bA- VAL 240mm Brake pump bent control rod L.240 mm 3,300
P (D.M6 Nut M6 1
Q |D.MBAA. A.A. nut M8 33
R |D.M8A.B. A.B. nut M8 22
S |RE6 A7VY5 TyYe— D.6X12 Spring washer @ 6 mm 22
T R.P.8X12 JvY%— D.8X12 Washer @ 8x12x2 mm 11
U [R.P.8X17X3 JyY4— D.8x17x3 Washer @ 8x17 mm 44
V. 10010.00CB5 I =B LTI e— Rudder pedals countersunk washer 517
W |V.TB6X20 TB screw 6x20 mm 88
X |V.TB6X30 TB screw 6x30 mm 99
Y ([V.TB8X30 TB screw 8x30 mm 132
Z V.TCE6X40 TCEI screw 6x40 mm 55
Z |V.TCE6X45 TCEI screw 6x45 mm 66
AA |V.TPSCEI6X55 TPSCEI screw 6x55 mm 88




